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A 1.14 38, 400 43,776
Hifr &
A 0. 855 33, 600 28, 728
[R5t
=X 1 4,833
R A
EEANMEED 2 %
= 1 4,833
246, 513
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Al 4 A 2024. 06
AR A A 2024. 06
SRR 1. 000-0000-0000-0000-0000-1-0 0

AR (B) 2 “/j( W

H>L]ljll
I

wN 33 = R &
HH LR - HiA& A HAL o HAT Xl i
[EEYN L
=X 1 208, 050
Hal (A)
A 0.57 57, 000 32, 490
il (B)
A 1. 14 47, 200 53, 808
i (C)
A 1. 425 38, 400 54, 720
Hifr &
A 1. 995 33, 600 67, 032
[R5t
= 1 4,161
7 AT AR
EEANMEED 2 %
= 1 4,161
212, 211
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AR (B)

N = iﬁ Al 4 A 2024. 06
2 /j 5( W :R SENEAEN 2024, 06
H = SRR 1. 000-0000-0000-0000-0000-1-0 0
N M E JE TS - MEEYRR G
THH LT - B A HAL s HAT X | T L
[EEYN L
= 1 154, 926
Hal (A)
A 0.57 57, 000 32, 490
il (B)
A 0. 855 47, 200 40, 356
i (C)
A 1.14 38, 400 43,776
Hifr &
A 1.14 33, 600 38, 304
[EREZ S
= 1 3, 098
7 AT AR
HENED 2 %
= 1 3,098
158, 024
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AR (B)

N = iﬁ Al 4 A 2024. 06
2 /j 5( W :R SENEAEN 2024, 06
B = SRR 1. 000-0000-0000-0000-0000-1-0 0
W 35 AR et - KGR
THH LT - B A HAL Y HAT x| T L
[EEYN L
= 1 46, 284
Hal (B)
A 0. 285 47, 200 13, 452
i (C)
A 0. 855 38, 400 32, 832
[ERR S
= 1 925
7 AT AR
BEENMED 2 %
= 1 925
47, 209
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Al 4 A 2024. 06
AR A A 2024. 06
SRR 1. 000-0000-0000-0000-0000-1-0 0

AR (B) 2 “/j( W

H>L]ljll
I

wN 36 & AR ETX
HH LT - B A HAL o HAT X | i
[EEYN L
= 1 101, 232
Hal (C)
A 1.14 38, 400 43,776
Hifr g
A 1.71 33, 600 57, 456
[ERR S
= 1 2,024
7 AT AR
BEENMED 2 %
=X 1 2,024

103, 256

i)

- 20 - TREE IR



Al 4 A 2024. 06
AR A A 2024. 06
SRR 1. 000-0000-0000-0000-0000-1-0 0

AR (B) 2 “/j( W

H>L]ljll
I

N 3T & B A
HH LR - HiA& A HAL o HAT Xl i
[EEYN L
=X 1 226, 062
Hal (A)
A 0.57 57, 000 32, 490
il (B)
A 0. 855 47, 200 40, 356
i (C)
A 1. 995 38, 400 76, 608
Hifr &
A 2.28 33, 600 76, 608
[R5t
= 1 4,521
7 AT AR
EEANMEED 2 %
= 1 4,521
230, 583
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Al 4 A 2024. 06
AR A A 2024. 06
SRR 1. 000-0000-0000-0000-0000-1-0 0

AR (B) 2 “/j( W

H>L]ljll
I

wN B8 5 HE AT
HH LR - HiA& A HAL o HAT Xl i
[EEYN L
= 1 186, 675
EXERsl]
A 0. 285 64, 800 18, 468
il (A)
A 0. 855 57, 000 48, 735
i (B)
A 1. 14 47, 200 53, 808
Hal (C)
A 1.71 38, 400 65, 664
[R5t
=X 1 3,733
7 AT AR
EEANMEED 2 %
=X 1 3,733
190, 408
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AR (B)

N = iﬁ Al 4 A 2024. 06
2 /j 5( W :R SENEAEN 2024, 06
H = SRR 1. 000-0000-0000-0000-0000-1-0 0
N 39 & WS EER
THH LT - B A HAL Y HAT X | T L
[EEYN L
= 1 174, 819
EXERsl]
A 0.57 64, 800 36, 936
il (A)
A 0. 855 57, 000 48, 735
i (B)
A 1. 425 47, 200 67, 260
Hal (C)
A 0.57 38, 400 21, 888
[EREZ S
= 1 3, 496
7 AT AR
HENED 2 %
= 1 3, 496
178, 315
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. » S = iﬁ B8 FH 4F A 2024. 06
K7 2 7 i 2 Wk W SN SR 2024, 06
H = SRR 1. 000-0000-0000-0000-0000-1-0 0
N 40 & Bt
THH LT - B ES HAL Ky HAT x| T L
[EEYN L
= 1 83,
EXERsl]
A 0.9 64, 800 58,
el (A)
A 0. 45 57, 000 25,
[ERR S
= 1 1,
7 AT AR
BEENMED 2 %
= 1 1,
85,
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KIMT v 7 FEHERE

N = iﬁ Al 4 A 2024. 06
2 /j 5( W :R SENEAEN 2024, 06
B = SRR 1. 000-0000-0000-0000-0000-1-0 0
oAl E AR ORERR
THH LT - B A HAL Y HAT x| T L
[EEYN L
= 1 25, 650
Hal (A)
A 0.45 57, 000 25, 650
[ERR S
= 1 513
R
BEENMED 2 %
= 1 513
26, 163
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Al 4 A 2024. 06
AR A A 2024. 06
SRR 1. 000-0000-0000-0000-0000-1-0 0

KT 1 2 R 2 yjh\ |j<J

%g%%
I

N 42 5 ETRHE
HH LT - B A HAL Y HAT X | T L
[EEYN L
= 1 136, 800
Hal (B)
A 1.8 47, 200 84, 960
i (C)
A 1.35 38, 400 51, 840
[ERR S
= 1 2,736
7 AT AR
BEENMED 2 %
= 1 2,736
139, 536
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. » S = iﬁ B8 FH 4F A 2024. 06
KT 1 5 R 9 /Jb\ |j<] = R SSPEFIAEN | 202406
H = SRR 1. 000-0000-0000-0000-0000-1-0 0
N 43 5 AR ETX
THH LT - B A HAL Y HAT x| T L
[EEYN L
= 1 160, 920
Hal (B)
A 1.35 47, 200 63, 720
i (C)
A 1.35 38, 400 51, 840
Hifr g
A 1.35 33, 600 45, 360
[EREZ S
= 1 3,218
7 AT AR
HEANMED 2 %
= 1 3,218
164, 138
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. » S = iﬁ B8 FH 4F A 2024. 06
KT 1 5 R 9 /Jb\ |j<] = R SSPEFIAEN | 202406
H = SRR 1. 000-0000-0000-0000-0000-1-0 0
N 44 5 B A
THH A HAL Y HAT x| T L
[EEYN L
= 1 62, 640
Hal (C)
A 0.45 38, 400 17, 280
Hifr g
A 1.35 33, 600 45, 360
[ERR S
= 1 1, 252
7 AT AR
BEENMED 2 %
= 1 1,252
63, 892
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. » S = iﬁ B8 FH 4F A 2024. 06
KT 12 o R enie 2 /{x: |j<] = R SEEAAER | 2024. 06
H = SRR 1. 000-0000-0000-0000-0000-1-0 0
N 45 & K
HH LT - B A HAL Y HAT X | T L
[EEYN L
= 1 48, 762
Hal (A)
A 0.45 57, 000 25, 650
i (B)
A 0.27 47, 200 12, 744
i (C)
A 0.27 38, 400 10, 368
[R5t
= 1 975
7 AT AR
HEANMED 2 %
= 1 975
49, 737
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. » S = iﬁ B8 FH 4F A 2024. 06
KT 1 2 FiERE 9 /ﬁ( |j<] = R BRI | 2024, 06
H = SRR 1. 000-0000-0000-0000-0000-1-0 0
N 46 = WS EER
HH LR - HiA& A HAL o HAT X | i
[EEYN L
=X 1 86, 040
Hal (B)
A 0.45 47, 200 21, 240
i (C)
A 0.9 38, 400 34, 560
Hifr g
A 0.9 33, 600 30, 240
[R5t
= 1 1,720
7 AT AR
EEANMEED 2 %
= 1 1,720
87, 760
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Al 4 A 2024. 06
AR A A 2024. 06
SRR 1. 000-0000-0000-0000-0000-1-0 0

KT 1 2 R 2 yjh\ |j<J

H>L]ljll
I

N 4T AXATRT I
THH LT - B A HAL Y HAT x| i
[EEYN L
= 1 142, 749
EXERsl]
A 1.53 64, 800 99, 144
il (A)
A 0. 765 57, 000 43, 605
[ERR S
= 1 2, 854
7 AT AR
BEENMED 2 %
= 1 2, 854
145, 603
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KIMT v 7 FEHERE

N = iﬁ Al 4 A 2024. 06
2 /j 5( W :R SENEAEN 2024, 06
B = SRR 1. 000-0000-0000-0000-0000-1-0 0
N 48 & RS OHERS
THH LT - B A HAL Y HAT x| T L
[EEYN L
= 1 43, 605
Hal (A)
A 0. 765 57, 000 43, 605
[ERR S
= 1 872
R
BEENMED 2 %
= 1 872
44, 477
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Al 4 A 2024. 06
AR A A 2024. 06
SRR 1. 000-0000-0000-0000-0000-1-0 0

KT 1 2 R 2 yjh\ |j<J

H>L]ljll
I

N 49 & ETRHE
HH LT - B A HAL Y HAT X | i
[EEYN L
= 1 232, 560
Hal (B)
A 3.06 47, 200 144, 432
i (C)
A 2. 295 38, 400 88, 128
[ERR S
= 1 4,651
7 AT AR
BEENMED 2 %
= 1 4,651
237,211
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. » S = iﬁ B8 FH 4F A 2024. 06
KT 12 o R enie 2 /{x: |j<] = R SEEAAER | 2024. 06
H = SRR 1. 000-0000-0000-0000-0000-1-0 0
N 50 & AR ETX
HH LT - B A HAL Y HAT X | T L
[EEYN L
= 1 273, 564
Hal (B)
A 2. 295 47, 200 108, 324
i (C)
A 2. 295 38, 400 88, 128
Hifr g
A 2. 295 33, 600 77,112
[R5t
= 1 5,471
7 AT AR
HEANMED 2 %
= 1 5,471
279, 035

_34_

i)

TREE IR



Al 4 A 2024. 06
AR A A 2024. 06
SRR 1. 000-0000-0000-0000-0000-1-0 0

KT 1 2 R 2 yjh\ |j<J

H>L]ljll
I

N b5l & B A
HH LT - B A HAL o HAT X | i
[EEYN L
= 1 106, 488
Hal (C)
A 0. 765 38, 400 29, 376
Hifr g
A 2. 295 33, 600 77,112
[R5t Y
= 1 2,129
7 AT AR
BEENMED 2 %
= 1 2,129
108, 617

_35_

5

TREE IR



. » S = iﬁ B8 FH 4F A 2024. 06
KT 1 2 FiERE 9 /ﬁ( |j<] = R BRI | 2024, 06
H = SRR 1. 000-0000-0000-0000-0000-1-0 0
N 52 & K
HH LT - B A HAL Y HAT X | T L
[EEYN L
= 1 82, 894
Hal (A)
A 0. 765 57, 000 43, 605
i (B)
A 0. 459 47, 200 21, 664
i (C)
A 0. 459 38, 400 17, 625
[R5t
= 1 1, 657
7 AT AR
HEANMED 2 %
= 1 1, 657
84, 551
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. » S = iﬁ B8 FH 4F A 2024. 06
K7 2 7 i 2 Wk W SN SR 2024, 06
H = SRR 1. 000-0000-0000-0000-0000-1-0 0
N 53 & WS EER
THH LT - B ES gy HAT x| T L
[EEYN L
, 268
Hal (B)
47, 200 ,108
i (C)
38, 400 , 752
B
33, 600 , 408
[EREZ S
,925
7 AT AR

, 925

EENFEED 2 %

, 193
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N = iﬁ Al 4 A 2024. 06
W oA, SRR 9 /ﬁ( |j<] = SRR | 2024, 06
= SRR 1. 000-0000-0000-0000-0000-1-0 0
wN 54 & B
THH LT - B Y HAT x| T L
[EEYN L
1 82, 566
EEHHR
0.72 64, 800 46, 656
el (A)
0. 63 57, 000 35,910
[ERR S
1 1, 651
7 AT AR
BEENMED 2 %
1 1,651
84, 217
- 38 - [E 238 T s i



i N = iﬁ B8 FH 4F A 2024. 06
W oA, SRR 9 /ﬁ( |j<] = SRR | 2024, 06
= SRR 1. 000-0000-0000-0000-0000-1-0 0
S AR ORERR
THH Y HAm x| T L
[EEYN L
1 38, 394
Hal (A)
0.45 57, 000 25, 650
i (B)
0.27 47, 200 12, 744
[ERR S
1 767
7 AT AR
BEENMED 2 %
1 767
39, 161
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Al 4 A 2024. 06
AR A A 2024. 06
SRR 1. 000-0000-0000-0000-0000-1-0 0

I
I

T e e 2 y)ﬁ\ |j<J ;R

N 56 & ETRHE
HH LR - HiA& A HAL o HAT X | i
[EEYN L
= 1 175, 608
Hal (B)
A 1.89 47, 200 89, 208
i (C)
A 2.25 38, 400 86, 400
[R5t Y
= 1 3,512
7 AT AR
BEENMED 2 %
= 1 3,512
179, 120
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i S = iﬁ B8 FH 4F A 2024. 06
WL [7-V7id, R s ] 9 /Jb\ |j<] :R BRI | 2024, 06
H = SRR 1. 000-0000-0000-0000-0000-1-0 0
N 5T & AR ETX
THH ES gy HAT x| T L
[EEYN L
1 , 696
Hal (B)
1.08 47, 200 ,976
i (C)
1.8 38, 400 , 120
Hifr g
2.25 33, 600 , 600
[R5t
1 ,913
7 AT AR

,913

EENFEED 2 %

, 609
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i S = iﬁ B8 FH 4F A 2024. 06
Wit [F-VTnh, S-SR 9 /ﬁ( |j<] :R SRR | 2024, 06
H = SRR 1. 000-0000-0000-0000-0000-1-0 0
N 58 & B A
HH LT - B A HAL Y HAT x| T L
[EEYN L
= 1 80, 352
Hal (C)
A 0. 99 38, 400 38,016
Hifr g
A 1.26 33, 600 42, 336
[ERR S
= 1 1, 607
7 AT AR
BEENMED 2 %
= 1 1, 607
81, 959
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N = iﬁ Al 4 A 2024. 06
W oA, SRR 9 /ﬁ( |j<] = SRR | 2024, 06
= SRR 1. 000-0000-0000-0000-0000-1-0 0
N 59 & K
THH LT - B gy HAT x| T L
[EEYN L
1 55, 584
Hal (A)
0. 36 57, 000 20, 520
i (B)
0. 45 47, 200 21, 240
i (C)
0. 36 38, 400 13, 824
[R5t
1 1,111
7 AT AR
HEANMED 2 %
1 1,111
56, 695
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i N = iﬁ B8 FH 4F A 2024. 06
Rt (7w, SEvn-2eRE ] 2 /frx: |j<] = AR A A 2024. 06
= SRR 1. 000-0000-0000-0000-0000-1-0 0
N 60 = WS EER
THH HgN HAm X | T L
[EEYN L
1 92, 736
Hal (B)
0.72 47, 200 33, 984
i (C)
0.9 38, 400 34, 560
Hifr g
0.72 33, 600 24, 192
[R5t
1 1, 854
7 AT AR
HEANMED 2 %
1 1, 854
94, 590
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Al 4 A 2024. 06
AR A A 2024. 06
SRR 1. 000-0000-0000-0000-0000-1-0 0

U e 2 Yk |j<J

H>L]ljll
I

wN 61 & B
HH LR - HiA& A HAL o HAT Xl i
[EEYN L
=X 1 93, 300
EXERsl]
A 1 64, 800 64, 800
il (A)
A 0.5 57, 000 28, 500
[R5t Y
= 1 1, 866
7 AT AR
BEENMED 2 %
= 1 1, 866

95, 166
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N = ﬁ: Al 4 A 2024. 06
2 /j 5( W :R SENEAEN 2024, 06
H = SRR 1. 000-0000-0000-0000-0000-1-0 0
62 & RS OHERS
THH LT - B A HAL Y HAT x| T L
[EEYN L
= 1 23, 600
Hal (B)
A 0.5 47, 200 23, 600
[ERR S
= 1 472
R
BEENMED 2 %
= 1 472
24,072
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N = iﬁ Al 4 A 2024. 06
U e 9 /ﬁ( |j<] :R SSENEMAER | 2024, 06
H = SRR 1. 000-0000-0000-0000-0000-1-0 0
N 63 & ETRHE
HH LT - B A HAL o HAT X | i
[EEYN L
= 1 188, 800
Hal (B)
A 1 47, 200 47, 200
i (C)
A 1.5 38, 400 57, 600
Hifr g
A 2.5 33, 600 84, 000
[R5t
=X 1 3,776
7 AT AR
HEANMED 2 %
=X 1 3,776
192, 576
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N = iﬁ Al 4 A 2024. 06
Ut 2 Wk W SN SSEEIIE] 2024 06
B = SRR 1. 000-0000-0000-0000-0000-1-0 0
N 64 AR ETX
THH LT - B A HAL Y HAT x| T L
[EEYN L
= 263, 200
Hal (B)
A 47, 200 47, 200
i (C)
A 38, 400 115, 200
B
A 33, 600 100, 800
[EREZ S
= 5, 264
7 AT AR
HEANMED 2 %
= 5, 264
268, 464
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N = iﬁ Al 4 A 2024. 06
U e 9 /ﬁ( |j<] :R SSENEMAER | 2024, 06
H = SRR 1. 000-0000-0000-0000-0000-1-0 0
N 65 & B A
HH LT - B A HAL o HAT X | i
[EEYN L
= 1 112, 400
Hal (B)
A 0.5 47, 200 23, 600
i (C)
A 1 38, 400 38, 400
Hifr g
A 1.5 33, 600 50, 400
[R5t
=X 1 2,248
7 AT AR
HEANMED 2 %
=X 1 2,248
114, 648
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Al 4 A 2024. 06
AR A A 2024. 06
SRR 1. 000-0000-0000-0000-0000-1-0 0

U e 2 Yk |j<J

H>L]ljll
I

wN 66 & HE AT
HH LR - HiA& A HAL o HAT Xl i
[EEYN L
= 1 178, 900
EXERsl]
A 1 64, 800 64, 800
il (A)
A 0.5 57, 000 28, 500
i (B)
A 1 47, 200 47, 200
Hal (C)
A 1 38, 400 38, 400
[R5t
=X 1 3,578
7 AT AR
EEANMEED 2 %
=X 1 3,578
182, 478
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N = iﬁ Al 4 A 2024. 06
U e 9 /ﬁ( |j<] :R SSENEMAER | 2024, 06
H = SRR 1. 000-0000-0000-0000-0000-1-0 0
N 67 = WS EER
HH LT - B A HAL o HAT X | i
[EEYN L
= 1 104, 900
Hal (A)
A 0.5 57, 000 28, 500
il (B)
A 0.5 47, 200 23, 600
i (C)
A 0.5 38, 400 19, 200
Hifr &
A 1 33, 600 33, 600
[R5t
=X 1 2, 098
7 AT AR
HENED 2 %
=X 1 2, 098
106, 998
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Al 4 A 2024. 06
A FHAE A 2024. 06

7 koA LERE O — R AR 9 Yj{ |j<]

%g%%
I

SRR 1. 000-0000-0000-0000-0000-1-0 0
N 68 & Bt
HH LT - B A HAL s HAT X | T L
[EEYN L
= 1 52, 100
Hal (A)
A 0.5 57, 000 28, 500
i (B)
A 0.5 47, 200 23, 600
52, 100
= B 6 FH AF H 2024. 06
7 VA MR ERE OB R 9 Yﬁ( |j<] = R == SBR[ 2024, 06
H = SIS R | 1.000-0000-0000-0000-0000-1-0 0
N 69 & A EHX
HHE LT - B it BT & HAfff AFA T
XYL
= 1 86, 400
i (C)
A 0.5 38, 400 19, 200
Hifr &
A 2 33, 600 67, 200
86, 400
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Al 4 A 2024. 06
AR A A 2024. 06
SRR 1. 000-0000-0000-0000-0000-1-0 0

H>L]ljll
I

7 VA LB ERE OB — AR A 9 yﬁ( |j<]

N 70 & B A
HH LR - HiA& A HAL o HAT Xl i
[EEYN L
= 1 119, 200
Hal (B)
A 1 47, 200 47, 200
i (C)
A 1 38, 400 38, 400
Hifr g
A 1 33, 600 33, 600
119, 200

]

- 53 - TREE IR



. o N = ﬁ: B8 FH 4F A 2024. 06
7 VA PR ERE OB o — A 9 /ﬁ( |j<] :R SRR | 2024, 06
H = SRR 1. 000-0000-0000-0000-0000-1-0 0
wN 71 K
HH LT - B A HAL o HAT X | i
[EEYN L
= 1 54, 180
Hal (A)
A 0.5 57, 000 28, 500
il (B)
A 0.3 47, 200 14, 160
i (C)
A 0.3 38, 400 11, 520
54, 180
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Al 4 A 2024. 06
AR A A 2024. 06
SRR 1. 000-0000-0000-0000-0000-1-0 0

H>L]ljll
I

wN 72 5 B
HH LR - HiA& A HAL o HAT Xl i
[EEYN L
= 1 369, 100
EEHAE
A 1.5 80, 200 120, 300
P - HfRE
A 2 75, 800 151, 600
FATH AR
A 1.5 64, 800 97, 200
[R5t
= 1 3,691
7 AT AR
HEANMED 1 %
= 1 3,691
372, 791
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. S = iﬁ B8 FH 4F A 2024. 06
VERERT 9 /ﬁ( |j<] :R SR D | 2024, 06
H = SRR 1. 000-0000-0000-0000-0000-1-0 0
N 73 & ETRHE
HH LT - B A HAL o HAT X | i
[EEYN L
=X 1 275, 900
Hal (A)
A 1.5 57, 000 85, 500
il (B)
A 2 47, 200 94, 400
i (C)
A 2.5 38, 400 96, 000
[R5t
=X 1 2,759
7 AT AR
EEANED 1 %
=X 1 2,759
278, 659
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VERERT 9 /ﬁ( |j<] :R SR D | 2024, 06
H = SRR 1. 000-0000-0000-0000-0000-1-0 0
N T4 E AR ETX
HH LT - B A HAL Y HAT X | T L
[EEYN L
= 1 208, 000
Hal (B)
A 1 47, 200 47, 200
i (C)
A 2 38, 400 76, 800
Hifr g
A 2.5 33, 600 84, 000
[R5t
= 1 2, 080
7 AT AR
EEANED 1 %
= 1 2, 080
210, 080
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Al 4 A 2024. 06
AR A A 2024. 06
SRR 1. 000-0000-0000-0000-0000-1-0 0

e 2 yjb\ N

H>L]ljll
I

N 75 & B A
HH LR - HiA& A HAL o HAT Xl i
[EEYN L
= 1 141, 600
Hal (C)
A 1.5 38, 400 57, 600
Hifr g
A 2.5 33, 600 84, 000
[R5t Y
= 1 1,416
7 AT AR
BEEANMED 1 %
= 1 1,416
143,016
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Al 4 A 2024. 06
AR A A 2024. 06
SRR 1. 000-0000-0000-0000-0000-1-0 0

H>L]ljll
I

wN 76 & HE AT
HH LR - HiA& A HAL o HAT Xl i
[EEYN L
=X 1 233, 080
EXERsl]
A 1 64, 800 64, 800
il (A)
A 1 57, 000 57, 000
i (B)
A 1.3 47, 200 61, 360
Hal (C)
A 1.3 38, 400 49, 920
[R5t
=X 1 2,330
7 AT AR
HEANMED 1 %
=X 1 2,330
235, 410
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Al 4 A 2024. 06
AR A A 2024. 06
SRR 1. 000-0000-0000-0000-0000-1-0 0

I
I

YRR 2 yjb\ |j<] ;R

N T = WS EER
HH LR - HiA& A HAL o HAT Xl i
[EEYN L
= 1 214, 000
Hal (B)
A 2.5 47, 200 118, 000
i (C)
A 2.5 38, 400 96, 000
[R5t Y
= 1 2,140
7 AT AR
BEEANMED 1 %
= 1 2, 140
216, 140
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N = ﬁ: Al 4 A 2024. 06
o 9 /frx: Ijij = R BEEAER 202406
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